MANUAL 2100-095“

INSTALLATION INSTRUCTIONS

MODELS

EH3PA-1-5A
EH3PA-1-10A
EH3PA-|-|5A
EH3PA-3-9B
EH3PA-3-12B
EH3PA-3-15B
EH3PA-3-9C
EH3PA-3-12C
EH3PA-3-15C

OPTIONAL ELECTRIC HEAT PACKAGES

FOR USE WITH 2.5 and 3 TON
PACKAGED UNITS







......q,.,..., 41\,..- _'-.kﬁt .'lv%m.ﬂl‘

n.!.! L &.9‘_ \ J.. wwﬂ.m i‘w w |
&
{ .

T
A " )</ m.lumw_w |

_..-# Gl f:.sm < .@ 3

_._




IMPORTANT

The equipment covered in this manual is to be installed by trained,
experienced service and instaliation technicians.

SHIPPING DAMAGE

Upon receipt of equipment, the carton should be checked for external
signs of shipping damage. If damage is found, the receiving party must
contact the last carrier immediately, preferably in writing, requesting
inspection by the carrier's agent.

UNPACKING THE HEAT PACKAGE

Remove the heat package from the shipping carton. The heat package
must consist of the following: (See Figure 1)

1. Basic heater enclosure with controls and installation instructions.

2. Plastic bag containing (1} 230V terminal block; (1) grounding lug; (4)
#10-16 x 1/2" screws; (2) #8-16 x 1" screws;(1) #10-24 x 1/2" screw;
and (1} wire tie.

INSTALLATION

Disconnect all power supplies to the air conditioner or heat pump. Remove
the control panel service door. Remove the four (4) #10-16 x 1/2" screws
which secure the electric heat cover plate. Remove the electric heat cover
plate from the blower partition and discard. Carefully insert heater
package through the opening, provided in the blower partition. Guide the
heater package into the opening being careful to align the locating pin(s)}
of the heater(s) in the dimpled holes provided in the rear of the blower
partition. Line up the four (4) holes in the heater control panel with the
four (4} prepunched holes in the blower partition and secure the heater
package to the blower partition with the four (4) #10-16x1/2" screws
provided.

WIRING CONNECTIONS

Connect the wires exiting the bottom of the heater package into the unit
circuit by plugging in the plastic snap lock fitting into the mating fitting
located on the rear of the control panel.

IMPORTANT: A separate power supply must be provided for use with
any optional heater package. DO NOT attempt to
connect a heater package with a basic unit to a single
power supply.



— STV A I IR . e 1t + ok A - Tt . -
———n & boeii s LRl o - ST T SR T e T ’W

L

P
o

i T

l ‘\--._3 g

-
SR

P,

NI
;i-!"-

-

CIRCUIT A

E”

| ili
i|r

i
:
| L

i :‘l-:lf L}

i
e e e o =

ii

et paerm — -

S —
S ———
[ It
A —
e
=
e ————f——
-
I
S—
—
S

P e
I
f
!

|
1

Figure 2

-3-



23 I TTeR

7

' P e,
EYCRIN M TH wiCHO DEWICES - ) A -
BTOFF TYPE 4K4 1044 it R, - ;

oy O o e ,a--\. -
. : SR

cmcuT B

*
<
>
z
v

Fi)

'r
|
|

IMEAREEFEORERE 2N

E

il



Remove the unit control panel cover and the inner 4-1/4" x 7-3/4" cover.
By removing this cover an isolated area is exposed. Install the high
voltage terminal block. Use the two (2) #8-16 x 1" screws. Install the
grounding lug, using the two (2) #10-24 x 1/2" screws into the
prepunched holes supplied.

Route the line voltage power circuit wires from the heater package through
the bushed hole in the control panel to the newly installed high voltage
terminal biock.

Inspect all wiring for damage and secure any loose wiring with the
enclosed wire ties. See Figure 3 for completed assembly. Replace the
terminail block cover, control box cover and blower service door.

Energize both power supplies and check for proper system operation.

PARTS LIST
OPTIONAL ELECTRIC HEAT PACKAGES

< SIS 1|88 |0 B B
i — — - — - | - -
LAl i {hlmeh [halhslm
| | 1 | t | I 11 o | ©

Part No. Description & E E E E Et_ e E = E =
(3] m [32] [32] oM m [32] [a2] (2]
I I L I I I | I I
W |w{w|wiu{wjwu |wiw

8401-006] Contactor 2P20 (1) (0 (2} (N (1) (2}

84901-002| Contactor 3P25A (1) (1) (1)

8614-017| Fuse Block x

8614-006| Fuse 30A (2)

8614-007 | Fuse 60A (2)

8607-013| Terminal Block X | x

3607-014 | Terminal Block x x| x| x| x{ x

8402-026 | Thermal Cut-off (1) [(2) | (3) (2)# (3)| (3} (2)] (3) (3)

8402-012] Limit Switch X | x x| xp 2] x| x| x{ x

8201-032| Blower Relay x{ x| x

8201-008| Blower Relay x | x x| X[ x{ X

8604-0421 Heat Strip 5Kw 240v X

B604-044 | Heat Strip 10Kw 2U40v x

8604-047 | Heat Strip 15Kw 240v X x

8604-048 | Heat Strip 9Kw  240v X

8604-046 | Heat Strip 12Kw  280v X

B604-072 | Heat Strip 9SKw 480v X

8604-051 Heat Strip 12Kw 480v x

8604-052 | Heat Strip 15kw 480v P




@ Q
B0,

L]

SO

® G

6 pin connector
(fits mating

connector on models
PJI1Al, P36AS, PIGAS-3,
PH31-2, PH36~4, PH3I6-4-3

Limit

—Heating Blower Relay

OO

Therma)
Cut-~off

Heater

Contacter

Electric
Heater

{1) Basic heater package.
(1) Terminal Block (Cat.

& The EH3PA-1-5A heater package consists of the following:

No. EB or 11983),

(1} Listed Ground Terminal 6-12 AL, 6-14 Ct.

* 50HZ application not U.L. Listed

Refer to the heat package instructions for proper

EH3PA-1-5A
Terminal
Block
CFT.E
These components field |
. B mounted in control
Equip. " Panel of unit. .
Ground
5
[@] @D 230V Heater :
Terminal Block '
1
| ; i installation.
; ] ]
[ 1 1
= USE COPPER OR
- V v ALUMINUM WIRE
L40-60-1
2ﬂ0]220-50-1 * FACTORY WIRING FELD WIRING

Low Valtage
High Veltoge

ZCS EH3PA-1-5A
HEATER PACKAGE

14067 -1108




—i 3
4
@ 1 L Heating Blower Relay
o @ &
]
-® @
Limit
6 pin connecter |
{fits mating connector G; l—_
on models P31Al, P3I6AS,
P36A5-3, PH3I1-2, PH3I6-4, T2
PH36~4-3 Heater
I Contactor
L) (L1
A l
Thermal Electric
Cut-off Heater

EHIPA-1-8A or

EH3PA-1-10A
Terminal
Block \

Ckt.B

t
$ . ¥
These components fiaidd & The EH3PA-1-10A heater package consists of the following:
Ckt.B mounted in control : (1) Basic heater package.
Equip. ) panel of unit. . (1) Terminal Block (Cat.No. EB or 11993),
Ground (1) Listed Ground Termimal 6-12AL, 6-14 CU,
Dz[] @D 230V Heater ' *SOHZ application not U.L. Listed

¥ ¥ Terminal Block N Refer to the heat package instructions for proper

1 i installation.

1 | tHIPA-1-BA

3 L /A | EH3PA-1-10a
! ; HEATER PACKAGE
HJSE COPPER OR
v v ALUMINUM WIRE
280-60-1 .
-
280/220-50-1 1 FACTORY WIRING _ FIELD WIRING

Low Voltage

High Valtoge s s — o o |4067-I200




4 1

DO,

¢

10 &

6§ Pin Connector
(Fits mating
connector on models
P31Al1, P3I6AS, PI6AS-3,
PH31-2, PH36-4, PH36=-4-3

lw———~Heating Blower Relay

Limit

én@
@u

Heater

Contagtor

e

The EH3PA-1-15A heater package consists of the following:

(Cat.No, EBor 11993).

{1) Listed Ground Terminal 6-12 AL, 6-14 CU.

Refer to the heat package instructions for proper installation.

2nd heat contactor operates only during emergency heat

. A
I
%
i' @vwwv‘
Thermal Electric
EH3PA-1-15A Cut-off Heater
Fuse Block
Fuse A - 60A Standard Class K=5
L cxt.B Fuse B - 30A Standard Class K-§
L] Egﬁﬂzeg"i‘gc"c'g:ti:fem (1) Basic heater package.
Equip. Ckt.R panal of unit. ! {1} Terminal Block
Ground §
A
.iE .é l"-230\.3‘ Heater A
I I 1 Terminal Block . or compressor cut-off.
! ! I 1
| 1 i *50H7 application not U.L. Listed
= | i
= a USE COPPER OR
= \4 \ ALUMINUM WIRE

200-60-1

240/220-50-1 *

L

FACTORY WIRING

Low Voltage
High Veltage

FIELD WIRING

A

EH3PA-1-15A
HEATER PACKAGE

(4067 -1308




Equip,
Ground

3

OX¢

(5 @

®
Q

Heating
" Blower
Relay

i

® &

& Pin Connector

(Fits mating connector on
modeis P3TAL, P36AS5, P3ISAS-3,
PH31-2, PH36-4, PH36-53

4l

C,j‘?mﬂ

'/Heatel'

Contactor

I

.._1

Electric Heater

EH3PA-3-98

Terminal Block

These components

fleld mounted in
control panel of

(el (o1 (e
LL LLZ LE
Ckt.B
Ckt.B
unit.

230V Heater
Terminai Block

2
v

v {
. 280-60-3
L1240 50-3%
USE COPPER OR 2801220
ALUMINUM WIRE e
FACTORY WIRING  FIELD WIRING
Low Veliage : e

High Voltoge smesem = = w= =

& The EH3PA-3-9B Heater Package consists of

the following:

(1) Basic heater package
{2) Terminal block (Cat. No. ERB or 11993)
{3) Listed Ground Terminal 6-12AL, 614 CU

*SQHZ application not U.L. Listed

EH3IPA-3-58

HEATER PACKAGE

l s067-210 /3




3

4) (1
5) (2

® G

& Pin Connector
(Fits mating connector on C imit
N
s

Blower
Relay

o
1 Heating

models P371A1, P36AS, k.

P3BAS-3, PH31-1, PH3E-4, 2 Heater Contactor
PH36-42 .—/7

]
{eld g@@
Q@ QO

T hermai

Cutoff
E :I 2 or 1S5Kw

Electric Heaters

EH3PA-3128B
020 0@0 (@0 | chiwa-> s
inaj BI
T3 T2 0T Terminal Block
Ckt.B
fese components® A\ The EHIPA-3-128 or EHIPA-3-158 heater
Ckt.B control parel of package consists of the following:
. unit. {1) Basic heater package
(2) Terminal Block (Cat. No. ERB or 11993)
230V Heater . :
DEED [M] [I@] Terminai Block [3) Listed Ground Terminal 6-12 AL, 6-T8 CU

Rafer to the heat package instructions for proper
installation. 2nd heater contactor operates only
during emergency heat or compressor cutoff,

Equip.
Ground

*E50HZ appiication not U.L. Listed

—d

EH3PA-3-12B
AN | EHPa-31s8

HEATER PACKAGES

e c— | - —
USRI I S ——

M_ _

{ho-so-z
USE COPPFER OR 280/220-50-3 "
ALUMINUM WIRE T

L m -1 T T J 4057—2208

Low Voltoge
Yol




]

——teating
@ @ . Blower
3 Relay

® @ 1
® G

& Pin Connector
(Fits mating corinector on Limit
models P31A 1, P36AS, P36AS-3,
PH31-2, PH36-4, PH36-43)

Heater Contactor

I3 T

)
~J3 3
L3 LZ@
i

} Thermal
) Cutoff

{ IKw
Etectric Heater

. EH3PA-3-9C
M] H@ Terminal Block

L3 LL2 18]
Ckt.B
oy ompanants A'”"e EH3IPA-3-9C heater package consists of
field mounted in the following:
control panel of g:
cxu.B - unit. {1) Basic heater package
160V Heater {2) Terminat Block (Cat. No. ERB or 11893)
DED Terminal Block (3) Listed Ground Terminal 6-12 AL, 614 CU
Equip,
Ground

;

i cv——"— — e r— —
e wees g | — —— 2t}
e — i | i e

& EH3PA-3-9C
HEATER PACKAGE

480-60-3

USE COPPER OR
ALUMINUM WIRE

FACTORY WIRING  -FIELD WIRING

Low Voltage —— ——

{High Voltoge semmme = v v un [#0s7-316 4 |




\Heating
Blower

Relay

@ Q@
@@ r——r 3
® @)

6 Pin Connector
{fits mating connector on models C Limit

P31A1, P16AS, P3BAS3, PH31-2,
( Heater Contactor

PH36-4, PH36-48-3)
|
eI
LES S
i

-*(::}—ﬂ

T hermal
Cutoff

M 12Kw or 15Kw
Electric Heater

EH3PA-3-12C

[0 (@0 (0] Sharss
Terminal Block

LL LE2 L
fese componantsl A\ The EHIPA-3-12C or EHIPA-3-15C heater
cke.B contral panel of package consists of the following:
‘ unit, {1} Basic heater package

460V Heater (2] Terminal Block (Cat. No. ERB or 11993}
Terminal Block (3) Listed Ground Terminal 6-12 AL, 513 CU

Ground

1
]
!
v |
* ' & EH3IPA-3-12C

gl w— | — —

EH3IPA-3-15C
aap-60-3

USE COPPER OR | ' HEATER PACKAGE
ALUMINUM WIRE

FACTORY WIRING __FIELD WIRING
Low Voltage -

High Volloge s e = mm o [w067-320 4 |




